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9b. -16.6 is the odd one out because -18.3
+12. .4and 3.7 +12.9=16.6. -16.6 +
12.9 = -3.7, but there is no number card for
-3.7 (to match -16.6).
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6a. 54 is the odd one out because 42 = 6 =
7and 24.6 + 6=4.1.54+ 6 =9, but there is
no number card for 9 (to match 54).
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4b. Various answers, for example:

+10, 28 sweets; + 9, 27 sweefs; + 8, 26
sweets.

5b. There would be 4 orcs. Various
answers, for example: Ti because
there are 12 barbarians; if the function for
the number of orcs is the number of
barbarians + 3, then the calculation to
work this outis 12+3=4.






 


 


 




     

